ECS 452: In-Class Exercise #9

Instructions Date: 27 /02 / 2018
1. Separate into groups of no more than three persons. The group cannot be the same Name I D (last 3 digits)
as any of your former groups. Only one submission is needed for each group. Prapun 5 5 5
2. Write down all the steps that you have done to obtain your answers. You may not get
full credit even when your answer is correct without showing how you get your
answer.
3. Do not panic.

1. Consider two random variables X and Y whose joint pmf matrix is given by P = % % . Find | (X;Y).
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2. Consider two random variables X and Y whose p = :gJ and Q= 5 .Find 1(X;Y). . | ° f
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First, we Find the P wmatnix.
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(0 pt) Consider two random variables X and Y whose Q = ? é .Find 1(X;Y).
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Note +that the twe rows in (O ore iden¥ical. This means Q()fl-t) does et

deperd on . Ina other words kwwinb tre veolue of X dees ~ot chasge  the

(_r.w\cl;-};ong.l) P.-.\f o-[ Y. T\ne,rg-‘:orc R ond ¥ ave .‘nc)e.fu.nae.n'\'
which implies I(x;Y) =0,

See nexy Pn:je. 'Faf o wore A‘.u.d‘ solution.



Remark - Nema.“,) to coleviatre I (%X;Y) yo will need beoth r_ d (O .

SO, there must be sewh&'aj special sbouy  GL  thet allows yeu
to get LULX,Y) wivhout R

Diveer colevlation:
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Therefore | TUx;%) = HIY) - HLNIX) = O.



